STXR
PEO=/N—S

B M F*E
MEI1—K K49329 | - K49330
i, I, TRB0920WT TRB0920WN
MEI—RK K49331 - K49332

i) X TCR0920WT TCRO0920WN
ZREREFEEIIL URB0920W -06

- BmCENORIE, HFEmitiaiinE CEET L,
+ FASmO—BICIE, L& By NEFTDOHDBRDSHDET

A F- =R\ =1l






BHOD IT3EXIZDINT

HEBROB/BERIZOINT

1. EBMITECOBRL, TiE B 278 Fa,

OF - pE

@ HateER (BR)
®

@

®

o
Dnn

Z2L
E5
*

rd

oy O
gd gH

HEEE

XEBRBHICR X IIMRBARRBS U, KA D
F—LTL—MIFRITNET,

2. B [—]. [/ ]1x. UTFozeERLCR
UESE

(=1 il MARAENCOBIES
B ME 2 I L R AR

o Tyl RIT A TN AR TR,
TR L VS

- ZORORHEFRTROBHAERR G 13, 8
FIotBIETT, 1720, HEGERNTHoTh,
BRI OV O IR S 2 SRRSOV 2%
BELIHVET,
RS ROMHEITRRIRN T FSEDHAEIR T
U925, BHEEIRREE ThoTh. BB e
ERRD ol BT IR SOMMIIZ OV VTR
BV EET,



TCR0920WN - TCR0920WT - TRB0920WN - TRBO920WT
2P JL—Ls, FA—/\—

065-0030-1033

RHEE MERES B & & W Lk i =
1338110004 |2PTL—L.CP
131006200M |2 CP;F30x 125
BZ12045 AILE 8.8 M12x45
NNF12 2oo0HA/0 vk M12
1301930004 mly By M2 o b 2y i1
ONAG GJYy—R=vFI)IL A M6

090678000M Tyl ¥;30%X4.5

000739000M |J>FE> ;9

000006200M |EHTJ—D 49E>;0, I

WS22 NAHHR 209 M22
NZ22150 ~  |Fvbk 8 222 M22x1. 50
1338171004 |FO—/iCP

BZ16040 RILk 8.8 M16x%x40
WSA16 NRFHR 339 M16
NZ16 +vyk 8 242 M16

1317060004 ARBUECP

1032790004 F ¥ RXHCP

094865000M |2 :B16x80

—_ |l _m | m | =m | === === .
@QD\IQU'I-PCOM_LOQOQ\IO)O'I#CJJN—‘

044606200M |16 HhR—kEL

—_ ek |k [ [N [t |t |k e [k (OISO | = NN INININ[(W N[~ ==t | =

20 |PC032032  |7YEY 3.2x32

21 |000739000M YL FEY ;9

22 |PC050036 JJEL 5x36

23 |068131000M |E>

24 1032770004 |RA—JLCP

25 |ONCS1 HYy—X=v7JL C PT1./8

|
[\
|



L

TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

2P JL—L., FO—/\—

REHEE| HRBES B & f W [EES s z
26 |067426100M TS5 vk 2
27 |BZ12035 ALk 8.8 M12x35 2
28 [130980100M |aA/ > hHR—ICP 1
29 |BSZ08030 aHRARILE 7 M8 %30 2
30 |NSPO8 JIHERTIVTF9h 4 M8 2
31 11338261004 | F7/3— 1
32 1309831004 |JL—k 1
33 1338250004 |H/NN—; RFVT 1
34 067139100M |F3/ > -2
35 |BZ06020 ALk 8.8 M6x20 6
36 |WRA06 ESHYHR M6 6
37 |NSPO06 ATV Fuk M6 6
38 |0006900000 |=F1J:M8x 14 4
39 (BSPZ08020 JHZSWYFEHRILE 7 M8X%X20 4
40 |NNF12 2500400k M12 2
41 |042783600M |Twiw;12 4
42 |044097200M |Twi 8 4
43 |131008000M |JS4vkCP:R 1
44 [131011000M |FS4vkCP:L 1
45 |085909000M |H5—;9.2x18 1
46 |BSZ08035 aHFRILE 7 M8%35 1
47 |BSZ08025 aHSRI)LE 7 M8x25 4
48 |044097200M [Twi ;8 5
49 |NSPO8 JARRTI Ik 4 M8 5
50 0599695004 |PICC4O™94 1
51 |[JCS207LLU |a=whka™HKR7yYL45CS207LLU 1
52 |ONA6 HJY—X=vF)IL A M6 1
53 |BZ14040 MLk 8.8 M14x%x40 2
54 |WSA14 NAHHR 339 M14 2
55 |NZ14 Fyk 8 222 M14 2
56 |1338270004 DX IN, ZOR T30 1
57 |074781000M |Jwi¥;35. 5x45x2. 3 1
58 |DC035 CHARAT 4 35 1
59 11302200006 |[3Af>+:MD 1
60 10008240000 |PICH/N—:2 1
61 0000963000 |PICH+v7:35 1
62 11338050000 |/N\TJ—PaAf b WWE2380—860 1
63 066672500M |HAK 1
64 DCO020 CHARNAD U4 20 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

IND—I\lr—2

065-0030-1034
RHES BEES B @M & W =k il

1 |1226130000 INJ—/\yr—295R 1
2 1131268100M | JS4wkCP 1
3 BSZ10025 aHERILE 7 M10Xx25 2
4  |WSA10 NexHYHx 339 M10 2
5 [Nz12 Jwk 8 2231 M12 2
6 WSAI12 NPRHFHR 3d% M12 2
7 |042783600M |TIwiw:12 2
8 1122615000M | R7O4yk;:40%x9T 1
9  |131275000M | H5—;35.2x12 1
10 [122614100M |[h5—:14%X6 1
11 |BZ06016 RILL 8.8 MBX16 1
12 |WS06 NRHFHR 2079 M6 1
13 [133816000M |Twi v:65x%x1.6 1
14 [1301950004 |R7O4wk:40%x32T 1
15 | TRK08025 B ART10. 9 HRT M8x25 2
16 |NSz08 aA4F vk 8 232 M8 2
17 |LA40042 O—S5F1—Y 40x42L 1
18 1114650000 |TEEIE—4 1
19 |131764200M |E—H/~R—ZXCP 1
20 |CP05016 +FRJRY M5EX16 3
21 [WS05 NRHHR 2979 M5 3
22 |BSPZ08030 |AA4SWYEHRI)ILL 7 M8x30 2
23 |131267000M |L/3— 1
24 |BSZ08030 aAHRILE 7 M8X% 30 1
25 |INSZ08 a[5Fvyk 8 221 M8 2




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT
IND—1\lr—2

065-0030-1034

RHEE HHES B & & ks ]
26 |KFD05050200 |(~NAOF— 1JaHES5%X5x20 1
27 |DEO006 EHARATD 6 : 1

28 |132670000M |RT1JL 4 :H2. 3x11%95 1

30 |AA040 O—SFz—2Y¥TF 40 1




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

Ewvo1Tk
WF—©°
7
&—,
|
065-0030-1035
RHEE MEEE B & & EE i el
1 1309863004 |EwHTRCP 1
2 |071338000M |H5—:21 2
3 |BZ16050 MLk 8.8 M16x%x50 2
4 |042322200M |Twi:16 4
5 |WSA16 NFHFHR 339 M16 2
6 |NZ16 +vk 8 220 M16 2
7 |CK080003 DoOFx—2IL—37) 8x38Px%x3 2
8 |SSC0930 Syl 9—3./8 4
9 |101781000M |JZkEwS CP 1
10 |078612200M |RTY 4 1
11 |NNF10 5004005 vk M10 1
12 |WRA20 ESYHR M20 1
13 |PC032032 JJEL 3.2%x32 1
14 |044606200M |16 HR—KFEY 1
15 |000739000M [ FE>;9 1
16 |0667842000 A—2:8 x 6500 1




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

Evor7vr

065-0030-1036

RHEE HM&mEE M W A W [EES . &
1 1304990004 |EwH7vIIL—LCP 1
2 |1305030004 |(HAFFL—ICP;L 1
3 1306430004 | HAKJL—kCP:R 1
4 |BSPZ08020 JH2SWYFARILE 7 M8X%20 6
5 |BSPz08025 |aHASWYFHKRILF 7 M8X25 2
6 1094889200M | TJL—k 2
7 |BSZ08012 JARRILE 7 M8x12 4
8  [WSA08 INARHHR 339 M8 4
9 11050231004 |\EwHo7vTh/i—CP 1
10 |0591440000  |F'AAyk 1
11 [1181490000 |=#1);:M8 3
12 |085222100M |A—A75via 23
13 |BSPZ08020 JHESWYFXRILE 7 M8%20 92
14 1050254004 B4 /\—CP 4
15 |0852240006 | AA> 48
16 |BSZ08055 JAZRILE 7 M8X55 48
17 INNFO8 IS5 (AvF vk M8 48
18 |044097200M |Twi ¥ :8 ‘ 48
19 |JSBX0126LLU |A=wkIOARF7IJ24 SBX0126LLU 4
20 |DCO12 CHARAD 4 12 4
21 0792823004  |HLs 1
22 |BJ08020 YS5%yTB 10. 9 M8x%20 4
23 |BJ08035 5% vy7B 10. 9 M8x%x35 1
24 INSZ08 ah42Fvk 8 222 M8 5
25 |WSA08 NAYHR 3379 M8 5




TCR0O920WN - TCR0920WT - TRBO920WN - TRB0920WT
Evo7yT

065-0030-1036

REEE BE&EE B & & W LEE s =
26 |044097200M Jvi¥:8 1
27 |1304440004 |k 1
28 |PC050036 JIJE> 5%x36 1
29 |057788100M | L. 1
30 |130654000M |$H5—;30. 5x48 1
31 1032960004 |#A>TL —FkCP 2
32 |1301860004 | #A>JL—FCP;L 1
33 |044098500M |Twi¥:10 4
34 |BX10070 ALk 10.9 M10Xx70 4
35 NNF10 IS5 400 vk M10 4
36 |WSA10 NAYHR 3d9 M10 4
37 0640350000 |FA/A>Twvia 12
38 1032990000 |"Jwi¥;43x3.2 12
39 |065487000M |2/,:35x%x1.2 -
40 |PC050056 JYEFr 5x56 12
41 085226100M |75 1
42 |JPFL204G NA27509 Y PF204 1
43 |JCS204LLU |A=wkaHARF7YLSH CS204LLU 1
44 |BSPZ08025 |aA4SWYEHRILE 7 M8x25 2
45 |JPF206G INMDSY TIL PF206 2
46 |JCS206LLU | A=whIADARFIS CS206LLU 1
47 |BSZ10030 aHARILE 7 M10%X 30 2
48 |WSAI10 NRHHAR 309 M10 2
49 1304450004 |RFO%vk;50—38T 1
50 |093231100M | RT7O4vk;50x12T 1




T

TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

Evo7yT

REEE BRES M @ & W [k 5 =
51 0734440000 | A -
52 |081267000M | F><3>O—5 CP 1
53 |080925000M |Fwhk 1
54 |082660000M |H5— 1
55 |BZ12045 RILk 8.8 M12x45 1
56 |[WSA12 NRPFHR 33 M12 1
57 |042783600M |Twiiw:12 1
58 |LA50064 O—S5Fx—2 50X 64L 1
59 |JPF206 NAI5Y 3L PF206 4
60 |JCS206LLU [2A=whIIARFYL4 CS206LLU 2
61 |BSZ10020 JIHARIE 7 M10%X20 6
62 |WSA10 NRFHR 33 M10 6
63 |NN16 F48rF vk M16 3
64 0590442006 |TFARITv ¥ 3
65 |082708200M RTUL 4 :H 2
66 |129736000M |RTYLH RF— 2
67 |NZ12 Fvk 8 222 M12 4
68 [8016960004 |~y JH/\—CP 1
69 |088724000M |Jwiy;28x2. 3 2
70 |000088100M | AN—AEF>:19%x3 2
71 1306590004 T F3avJL—hCP:L 1
72 1306600004 |T F39FL—kCP:R 1
73 |044097200M vl 8 4
74 |NSPO08 AHRRTYLHGFvk 4 M8 4
75 1306790004 |7RA—JLRT—CP 1
76 |000738000M |UFEL:6 1
77 |PS050032 ATYLHTEY 5x32 1
78 |ONA6 S)—Z2=vFIL A M6 1
79 |CAP040040 |FvvJ 40Xx40x%x3.2 1
80 |AA050 O—35Fz—Y¥T 50 1
81 |BSZ08020 JA5RILE 7 M8x20 1
82 |044097200M Tl ¥:8 2
83 |NSPO08 JARRTIYLT vk 4 M8 1




TCRO920WN - TCR0920WT - TRB0920WN - TRBO920WT
+—5

k 35 44
13513-1 48
. 36@ }é ;37 %\33.59,60
3334
RHES BREFE B M A =k i =
1 1306110004 |RZX ,
2 |065487000M |+ /s:85x%x1. 2 -
3 0709092000 « |Twia 1
4 0432480010 |Tz—1 24 TL—b 2
5 [1306120004 |Y5vyFAYHTL—F 1
6 1043249201M | OSYFTOXRARRTIL G A 6
7 |044098500M |TJwiv:10 6
8 |BSZ10060 aOHBRILE 7 M10%x60 6
9  [1306080004 |RTOA4vyhCP:50—38T 1
10 |LA50111 H—5Fx—> 50x111L 1
11 0812670000 |7 3i3>O—5 CP 2
12 |130446000M |FT>> 3> 7—LCP 1
13 |044214301IM [Ty w25 5%1.0 -
14 |DCO025 CHANAT U4 25 1
15 |DCO17 CHARAT O 17 2
16 |ONB6 F1)—X=vw7I)IL B M6 1
17 |094631000M |RTYL 45 :H 1
18 |043341501M | R T RF— 1
19 |NZ12 Fvk 8 222 M12 2
20 1304580004 | R7O4vk;50—17T 1
21 |KFC10080400 (AN ¥— 13T )L10x8x40 1
22 | TRK08025 6hART10. 9 RS M8 %25 2
23 |NSZz08 aA4Fvk 8 232 M8 2
24 |101902000M 25> :PF207 2
25 |JCS207LLU | a=whaADARFYL S CS207LLU 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

A—7
RHEE HBEES B & & W B {i& =
26 |BSZ10030 JAHERILE 7 M10x30 3
27 |WSAT10 NRHYHR 339 M10 3
28 1304570004 |y Tk 1
29 |JPF206G INTZ22 TIL PF206 4
30 (JCS206LLU |a1=yhk3HARTF74 CS206LLU 2
31 |BSZ10025 IHSRILE 7 M10%x25 6
32 |WSA10 NERHFHR 3d9 M10 6
33 |NSzZ10 aH4Fvk 8 22 M10 6
34 1050371004 | RT7O4whk:20T 2
35 |0967561000 | .\:;30.5x0. 6 -
36 0590442006 |FARITv v 2
37 |NN16 402 Fvk M16 2
38 |LA50053 A—S5Fx—Y 50X%X53L 2
39 105038100M |72 3> F7—LCP 2
40 |DC100 CHARNAT 4 100 2
41 119235000M [R>S :A3. 5x14x30 2
42 |BAI08120 RILk 4.6 B2 M8x120 2
43 079424000M |[J#—HIK;8%x32 ‘ 2
44 |079425000M |F>;8x32 2
45 |044097200M |Twiv;8 2
46 |NSZ08 afRFvyk 8 22 M8 6
47 1050410000 |73 0O—5CP 2
48 DCO12 CHARAD Y 12 2
49 1050420004 |RT0O4 k15T 2
50 |105043000M Hh5—;32.9x19.5 1
51 |105044000M | Hh5—;32. 9x39.5 1
‘52 1304310004 | R%©')2—CP;L 1
53 1304350004 | R%')a—CP;R 1
54 |J6307LLU R—ILATFY>4 6307LLU 4
55 |DHC080 CHARAT 74 80 4
56 |130649000M | RZL—\ 2
57 |055474000M AL 8.8 M8x20 4
58 INSPO8 JAFRTY G Fvk 4 M8 4
59 |AA050 A—Z>Fz—YFE¥T 50 3
60 |AD050 A2tvryy 50 3
61 |NSZ10 JH%Fvk 8 221 M10 3




TCRO920WN - TCR0920WT - TRB0920WN - TRB0O920WT
A—%3

065-0030-1038
FEEE WMMmES B W A W =k i =

1 1304731004 AO—%4CP 1

2 |JCS309LLU  |2=whkaAHARFIJo4 CS309LLU 2

3 1304800004 TS 1

4 1304810004 |JL—k 1

5 |0770931000 | 4 -

6 |BZ12065 = |7RJLk 8.8 M12x65 4

7 |WSA12 NAHHR 339 M12 4

8 1050711004 |DS52o 1

9  |BZ12035 RILE 8.8 M12x35 4

10 \WSA12 NABHHR 3dYH M12 4

11 {105072000M |FL—F 1

12 |BSPZ08020 |aA#A#SWWHHRIL: 7 M8x 20 4

13 |1304530004 A0 vhkCP;60—2x 13T 1

14 11304560004 |y —RILhRILA 1

15 |130650000M |H5—:40X%X40 1

16 1018790000 |TJwia 2

17 /0988800000 |2//,.:35.5X%X0. 6 -

18 |DCO035 CHANAT U4 35 1

19 | ONA6 J)—ZR=vFIL A M6 1

20 /0440284000 | —7KJLM;M10x55 5 |45 %
21 |WSA10 NAFHFHER 339 M10 5 |u
22 |NSZ10 aH%Fvk 8 22 M10 5 |u
23 1306050004 | R7A4YrCP:60—2x%x30T 1

24 |085105000M vl 4;21x9 1

25 |NN20 FA48 vk M20 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

n—%

13514-1

065-0030-1038

REEE| e EF B m & W B i =
26 |105061000M | 7> 33> 7—/LCP;60R 1
27 1050600004 |ARFO4vk;13T—2 1
28  |J6005LLU IR—ILAR T4 6005LLU 2
29 |DC025 CHisbAD 4 25 2
30 |DHCO047 CHAMAD 73 47 1
31 |096757000M | L:25.5X%0. 6 -
32 |ONB6 G1)—R=w7)L B M6 1
33 |130450000M |OwKCP 1
34 |099710000M | HS5— 3
35 0473370006  |RTULT A 1
36 |NZ12 Fvk 8 222 M12 2
37 |WRA20 EZHHR M20 1
38 |PC050036 JIJEY 5%x36 1
39 |LAW60066 O—>FI—> 60—2X66L 1
40 |1306311004 |R%“L—/ CP 1
41 1130651000M | .y -
42 |042783600M |Twiy;12 4
43 |BZ12030 RILL 8.8 M12x30 4
44 |WSA12 NERPFHR 339 M12 4
45 | AA060-2 O—5>Fz—Y¥T 60—2 1




TCR0920WN - TCR0920WT - TRB0920WN - TRBO920WT
RhLTL—L

065-0030-1039
RHEEE HBHEEFES B M & W Bk s

1 |1305631004 |FRELATL—LCP 1
2 |130905000M |ZL—Fk 2
3 |BZ12040 RILE 8.8 M12x40 4
4  |WSA12 NRHYHR 339 M12 4
5 |NZ12 Fwyk 8 2231 M12 4
6 |BXI16090 RILE 109 21T M16x%x90 2
7 |WSA16 NAYHR 339 M16 2
8 10590442006 |TARIIvI v 2
9  |094901000M |RTFYL Y :H 1
10 |043341501M | RTYL YT RF— 1
11 [NZ12 Fvk 8 2232 M12 2




TCRO0920WN - TCR0920WT - TRB0920WN - TRBO920WT

FYRyvOR
18
12 1‘1 w@})@
¥ Q 2 f?
11 31 32

065-0030-1040

REEE| R EF B @ & W B fi& z
1 1309840002 |PICY ¥k 1
2 |J6207LLU R—ILRF7Y24 6207LLU 1
3 |D407210 AN —IL DAOXT72x10 1
4 |J7207 FoxaSh—ILRATYLY 7207 1
5 |DHC072 CHARAT FF 72 1
6 (1018700002 |Hh5—;85. 7x6.5 1
7 10779320002 ARIJWEZF:15T 1
8 10445851000 |FaU AL L;35%0. 1 -
9 0445862000 |FIItA4L;35x0.2 -
10 |DCO035 CHANAD 4 35 1
11 (1018710004 | FYVHRYIRAXvyS 1
12 |BSZ10025 aHARILE 7 M10x25 4
13 |WSA10 NAYHR 339 M10 4
14 (1301820004 |AA2FNRYIR 1
15 /0003480000 GJY—Rt> 1
16 0003280000 |/Sw¥> 1
17 0779311002 |RANJLFA:23T 2
18 11302121002 | Th; ALY 2
19 |1302130004 |RyHURTL—LCP;R 1
20 |1302190004 |ARYIRTL—LCP;L 1
21 |DCO035 CHANAT ¥4 35 2
22 |J6207LLU R—ILRFY4 6207LLU 2
23 |J6208LLU R—ILAF71)4 6208LLU 2
24 |DHC080 CHARAT 74 80 2
25 (1306520004 |75 1




TCR0920WN - TCR0920WT - TRB0920WN - TRBO920WT
TRy oX

12
\Q’
065-0030-1040
RHEE HB&EEFES B @m & W B {ig xE
26 |BSZ10030 aHARILE 7 M10%30 6
27 |WSAI10 NAHFHR 3375 M10 6
28 |BZ12040 RILL 8.8 M12x40 6
29 |BZ12045 ALk 8.8 M12x45 6
30 |BZ12170 RILE 8.8 M12x170 3
31  |WSA12 NERHFHER 339 M12 15
32 |NZ12 Fwk 8 222 M12 15
33 |BZ14035 RILk 8.8 M14x35 4
34 |WSA14 NRYHFR 339 M14 4
35 |Nz14 Fvk 8 221 M14 4




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT
JL—L7—hk

/‘\
065-0030-1041
REEE BmES WM M & W =k i =
1018612004 |74 JL;L
1018622004 724 IL:R
BJ10025 YS5XvvTB 10.9 M10x25
BJ10035 HS5%vyJB 10. 9 M10x35
NZ10 +vk 8 242 M10
WSA10 INABHHR 309 M10
5 044098500M |7 4:10
042858201M  |“YUh+4
BZ12030 RILE 8.8 M12x30
NNF12 IS5 /A0t yk M12

1051060004 R—JLLSTI3CP

105268000M | RTVJ2 % ;H4x21%x125

000738000M |YFE:6

049907000M |/ L

1350960004 XYL —/\CP

099233100M |/ L

BSZ10025 aA%RIE 7 M10x25

BRI =INPNNN=INDNNNOOOOON A==

SNEENENEEEEINIEIEIENSINE

WSA10 NP HR 339 M10




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

A—>
53<<§
51—g
] Zu 7
ig:% 3940 @‘@{ﬁ
‘e T
550 R
4 K41 ] 45&
;'!i 43\&5455 2(: 45
@s}/@ L e
3/4® @@/ ‘e §;53
109f @72// LB W
%K ¥ @ 8 ‘ 3 , 0/
54
4 L B
J B & 19
o 43 ~ 56 2;7; 18'61185\ 1j°
' Y @i(/:g/se
51—g
RHEE HBERES B m 4 W Bk 3 z
1 1302700004 |R7JO%4wk;80—10T 1 -
2 /1018820004 |Lw—iRJLIRILA CP 1
3 |130653000M  HA5—:40x59 1
4 11018790000 |Jwia 2
5 0988800000 (/\;35.5x%0.6 4
6 |DC035 CHArAT o4 35 1
7 |ONAG6 J)—=R=wT)L A M6 1
8 0469070000 | —ILF 4 | FE3s
9 |WSA08 INRHHR 307 M8 4 |m
10 INSZ08 ahH%+ vk 8 21 M8 4 |n
11 1302590004 |B@—>CP:35S 7
12 11302550004 |B@—>CP;35L 3
13 1302620004 |A—>CP;35LH 2
14 |076543100M | Hh5— 2
15 1302300004 |FLO—SCP;35L 1
16 |1302730004 (X704 vhk;60—23T 13
17 1304590004 |RX7A4whk;80—30T 2
18 |065487000M |2//\:35%1. 2 -
19 0590442006 | TAARI Ty v 13
20 |NN16 FTAA vk M16 13
21 1301831004 |[/\“TL 4L 1
22 1301841004 |/\9T24 R 1
23 |ONC6 H1)—A=Zv7T)L C M6 1
24 |130209000M |[/AA 75T :PF208 24
25 130210000M |75 CP:1 13




TCRO920WN - TCRO0920WT - TRB0920WN - TRB0920WT

A—>
REES HRES B & & W =k 1% %
26 |JCS307DDU (A= yhkIIRF4 CS307DDU 13
27 |BZ12030 ALk 8.8 M12x30 ‘ 48
28 |BZ12040 RILE 8.8 M12x40 4
29 [WSA12 NFHHLR 339 M12 52
30 [130211000M |75 TCP:2 ‘ 13
31 |JCS207LLU |21=wkrIYRF7YL4 CS207LLU 13
32 |DC035 CHARAT T4 35 13
33 |BSZ10020 aAAERILE 7 M10X%20 36
34 |BSZ10035 aAFRILE 7 M10%X35 3
35 |WSA10 NRYHR 339 M10 39
36 |LA80112 O—>Fx—> 80x112L 1
37 |LA60156 O—5F1—>Y 60X 156L 1
38 |LA60181 A—5FI—> 60x181L 1
39 101883000M |T> i3 F7—LCP;L 1
40 1018860004 |RFO4wkCP:80% 12T 2
41 |DC030 CHARAT ¥4 30 3
42 |073444000M |/ Ls -
43 130447000M |73 F7—LALCP;60A 1
44 130540000M |T> 33> F7—.LCP;60B 1
45 0986740004 |AFO4vICP;RS60X 13T 2
46 |DC025 CHANAT U4 25 4
47 044214301M |Jwiv25.5x1.0 10
48 |ONBS6 J1)—R=v7IJL B M6 3
49 130450000M |BwKCP 2
50 |130545000M AYKCP:S 1
51 |099710000M | HhS5— 8
52 0473370006 | RTYL4G A 3
53 |NZ12 Fvyk 8 2232 M12 6
54 |060807100M |Jwi v 3
55 |PC050036 JIEY 5Xx36 1
56 1302740004 | R7A%vk;60—17T 2
57 |J6007LLU IR—ILR_ATFTY24 6007LLU 4
58 |DCO035 CHARMAT 45 35 2
59  |DHC062 CHERAT 74 62 2
60 |025266000M  |FarAHFHR 1
61 0988800000 |2 /\;35.5x0.6 -
62 |AA080 O—SFz—2YEXT 80 1
63 |AA060 O—>Fz—2Y¥T 60 2
64 |ADO060 Ao2tvk)Y 60 1
65 |130709000M |ZF—!CP;A—8" 1
66 |ONA6 JY—R=wTJ]L A M6 1




TCR0O920WN - TCR0920WT - TRB0920WN - TRB0920WT

AT47—43

065-0030-1043

REEE HHEES B @M & W LEE fig
1 |1019311004 |OyF25TvH 2
2 101995000M > ;B20x45 2
3 |WRA20 ESHYHR M20 2
4 |PC032032 JUyEY 3.2x32 2
5 |ONB6 HJY)—R=w7I)L B M6 2
6 1019320004 |FUwTL/\—CP 1
7 |060807100M |Twi v 2

- 8 |PC050036 JYEY 5x36 2
9 |ONBS6 J1)—R=v7JL B M6 2
10 101934000M | R4 :H 2
11 1306620006 |RATYLH :HEX40%X510 2
12 |043341501M | RTYLH RTFT— 2
13 |NZ12 Fvk 8 222 M12 4
14 |000070200M |E>;B16x%x40 2
15 |WRA16 ESHHR M16 4
16 |PC032032 JIJEY 3.2x%x32 2
17 0858590000 |©wi3> 2
18 |097618000M | L:;11%X1.0 -
19 |BJ10080 HS5%vyTB 10. 9 M10x80 2
20 |NSZ10 a64Fvyk 8 22 M10 4
21 |134929000M |AYKCP:1 1
22 |000056200M |~ :B10x40 1
23 |WRAI10 ESYHR M10 1
24 |PC032016 J)EY 3.2%16 1
25 |NSZz10 aH4 Yk 8 232 M10 1




L
TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

AT —4

RUBE M MEE B & A W
26 |079422000M |7A4—4HI2K;10%x40
27 |079423000M |F>:10x40
28 |134931000M |YJ>4CP;L
29 |WRA16 ESYHR M16
30 |PC032032 @ |DYFr 3.2x32
31 130493100M AYKCP:2
32 |WRAO08 EZHFHR M8
33 |PC032016 JYEL 3.2%x16
34 1306641004 |75
35 |130494000M |OwWKCP:3
36 |BSZ10040 IAZRILE 7 M10x%x40
37 |WRAI10 ESHYHR M10
38 |NSz10 aH4+vk 8 231 M10
39 079422000M |7#—FI2K;10x40
40 079423000M |[F>;10x40
41 1019471004 |FS4 vk

3|
i

i\ &

42 |BZ12110 RILE 8.8 M12x110
43 |BZ12120 = |7RJLk 8.8 M12x120
44 |NNF12 IS0 A/arvFyk M12
45 |BZ14035 RILE 8.8 M14x35
46 |NZ14 Fyk 8 22 M14

47 1306630006 [R5 :HIXB38x% 369
48 129736000M | RTYLHT ATF—

49 |NZ12 Jybk 8 223 M12

50 |0830961004 O—5

51  |060807100M |Jwi+

52 |PC050036 JEY 5Xx36

53 |BSZ08020 JAERILE 7 M8X%20
54 |NSPO8 JHBRTY Gy 4 M8
55 |WRA08 ESHYHR M8

56 |082290000M (H5—
57 |025266000M |Fa oA HFH
60 1346320000 |Ho 42— (fH)

® 61~69ft +Fav

61 |134633000M |JS54vkCP FTLav
62 |BSZ08030 %R 7 M8X% 30 "
63 [NSZ08 JA4Fvbk 8 221 M8 7
64 0967020000 |H94 "
65 |CP03010 +F+RaxL M3x10 "
66 [NAO3 vk 4 222 M3 "
67 |WS03 NAHYHR 29079 M3 "

1

68 |101994000M |A™924—L/\—

69 |045998000M |14

70 1349250004 |F)vFL/A—CP;R
71 0830930000 |iavhHFTYU—N
72 |060807100M |7y v

1/

73 |PC050036 JJEY 5x36

74 |083094000M |HS5—

75 |BZ12050 RIS 8.8 M12x50
76 |NZ12 Fyk8 22 M12

77 |WSA12 NAFHA 339 M12

JEQ) IO 'S R Y () G (R R S A L I N I N Y O T Y G R OO I Y ey g gy § CR B ORI CRE U NI g gy gy i 9 g g SR CR I CRTNCRE ORI N Y (RS JEIFG) [ ey [ DU PGS I I

78 |000761100M |Twiv; 16




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

v VA

065-0030-1044
REEE MEmES B & B B i %
1 |1312960003 |ZO>kAH/N—CP:L 1
2 1312970003 | 7AYFH/A—CP;R 1
3 1308780000  |AwH/\UKIL 4
4 |130887000M |TS54wkCP 4
5 |BSZ08020 aAHFRILE 7 M8 20 16
6 |[NSP08 aHFRTYT vk 4 M8 16
7 |131326000M |Rkw/N 2
8 |WRAO08 ESHAR M8 2
9 |PC032016 JYEY 3.2%x16 2
10 10009341000 |R&f%%;Y—60CI(STYFM5EHT) 2
11 1310290003 | —kAH/A—CP;L 1
12 |1310300008 |~ —kH/3—CP;R 1
13 [1308780000 |OwH/\>FJL 4
14 |130887000M |7S4whkCP 4
15 BSZ08020 JHSRILE 7 M8%20 16
16 NSPO8 aAHZRTI T Fvk 4 M8 16
17 10009321000 |R5¥%8%;R—60CI(SFYEM5{}) 2
18 1312150004 |ZB>FA/N—CP:L./Lo1 1
19 [1312160004 |7B8>k,H/NA—CP:L.Lo2 1
20 |1312170004 |Z0O>kH/NA—CP:R. Lo 1
21 |1181490000 |=%1);.M8 3
22 (1310830004 |4 —kHhH/3—;L Lo 1
23 1310840004 ~'—bkHh/N—;R Lo 1
24 |BSPZ08020 T HASWYFARILE 7 M8x20 6
25 |WRAO8 ESHYHR M8 6




_

TCR0O920WN - TCR0920WT - TRB0920WN - TRB0920WT

H/\—

REES WMmEE B & & W fE %k i xE
26 1310850003 |~"—KArH/N— 1
27 |BSPZ08020 IHRASWYERILE 7 M8X 20 8
28 |WRA08 ESYHR M8 8
29 10009301000 |k5t%%;R—150TR(SH+vYbM51T) 2
30 1312990003 |kyTAH/N— 1
31 |BSPZ08020 [AH4#SWYXHRILL 7 M8x20 10
32 \WRAO08 ESHYHAR M8 10
33 1312620004 |ZA>kH/N—CP; M1 1
34 |BSPZ08020 |aHAA#SWYXHRILE 7 M8x20 4
36 (1312580003 |ZO>kA/N—CP;M2 1
37 |CP06012 +FARaRY MBX12 3
38 |NPO6 AT Fyk M6 3
39 0333782000 |HUwS 1
40 |WRAO8 ESHHR M8 2
41 |NPO8 ATYGF vk M8 2
42 0949340000 |S5/8—<4 Ryk;800 1
43 [131260000M |RF— 1
44 [131261000M | Rkwss 1
45 |CP06020 +FARORY M6 X 20 1
46 |CP06016 +FARaRY M6X16 1
47 |NNFO06 IS5 F(AvFyk M6 2
48 1312760004 | 7/8—;L 1
49 1312770004 |Hh/A—;R 1
50 [1181490000 |=1):M8 4




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

a7y
13 -
6 ~ \
’ 5
\@ 3 . 7
1 Qé 9/4
11
2/%\ % 12

N 8

/ \% %/ 9

4

M )
‘ 13
065-0030-1045
REEE HMEES B @M & &%k fis

1 1057631000 |15 :CSH45%x310x% 445 1
2  BZ20110 7RI 8.8 M20x110 1
3 |BZ20120 ALk 8.8 M20x 120 1
4 |NN20 Fq4O0F vk M20 2
5 1033-04 HR—RAIJLR PF1./4xPT1.74 1
6 | KH0402000BP | 7Wik—R 1./4x2000 S1—4 1
7 0887210000 |R/NAFIFa—T : 2
8 10009280000 AT INILT 1.4 1
9  |KHO0401200BE |1 7Wik—X 1.4 % 1200S1- S902 1
10 |0887210000 | R/SAFIFa1—T 2
11 |131453000M |[/NILTRILS 1
12 |BSPZ08016 aHEASWYHRILE 7 M8Xx 16 2
13 |ILT380 A0y B4 7. 5x382 2




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

FUIEY

FIA4UAS RV AS
FUEY9E—4EA

RI=nwh—o
T EOE—EA~

AS

065-0030-1058
RHEE HeRFEF B @ & B & xE

1 1310862000 |tAFahvyIR 1
2  |CP04012 +FARORT MA X 12 4
3 INPO4 RATYLT+vk M4 4
4 1318920000 |3—K;E—% 1
5 10937320000 (&Rt H— 1
6 |CP04016 +FAORY M4 X 16 4
7  |WRA04 ESHAR M4 4
8 |NPO4 ATk M4 4
9 (1313640000 |3A—FK:tEA/FaRvsx 1
10 1313660000  |—7J)LOvo4 vk 1
11 [1313860000 | RAYF 1
12 | 1349550000 |O—K;YHRyoIR 1
13 1349561000 |V HhRvyIR 1
14 1345450000 |3—K ;5000 1
15 |ILT100 Ao a0vy%4 2. 5100 -
16 |ILT150 Ao aByyR4 3.5x152 3
17 |ILT380 A2 209934 7. 5x382 -
18 10937330000 |trH—aATT Ryb 1
19 |FU3 Ea1—X;3A 1
20 |FU30 Ea—X;30A 1
21 |801648000M |H7KR—Fk 1
22 |CP04012 +FARAR M4 x12 2
23 |NP04 ATV Fyb M4 2
24 - |WRA04 ESHHR M4 2




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0O920WT
ERvk/NAT

065-0030-1047
RHEE B&ERES B & 4 W [EE i

1 |1302061004 |ERykss1TCP ' 1
2 1018660004 [/\T9TL Y 2
3 |ONB6 Jy—2=v7IL B M6 2
4 |BZ16040 RILE 8.8 M16x%x40 3
5 |BZ16065 RILk 8.8 M16%x65 1
6 [NZ16 Jvk 8 221 M16 4
7 |WSA16 INAFHLR 33 M16 4
8 1101867200M (H5—;16. 2x20 1
9 |WRA16 ESHYHA R M16 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT
Fama

27.

S

B\
e
LM 17
(19 16 »

18

.

f

13633-2
065-0030-1048

AHES HmES 1L W - [k fis %

131220000M | R TFR—ZCP

BSPZ08020 |aAHA#SWYHARKIL 7 M8 X 25

0993650000 EXbFd AR T

BP06016 SWYFRIL, 4.6 MBX16
131223000M | 7—.ICP

WRA12 ESHHR M12

PC032020 JYEY 3.2x%x20
099385000M E>

WRAO5 ESHYHR M5

PC020016 JYEY 2%x16

131230000M  |L/\—

BSZ08025 JHARI)LE 7 M8x25

044097200M JTyi; 8

NSP08 IHERT) 55y 4 M8

0993660000 Y- AINEY

1003771000 |F1—T ;550

099386100M | 754 vkCP

FENEERENEHEEEN G NNE

055032000M | AU RARILL 8.8 M8%15

20 |NSPO8 aHBRTV T vk 4 M8
21 (1003751000 | T/ /f%:5

22 |BZ06030 RILL 8.8 M6x30

23 |WSO06 NABHHR 2379 M6

24 1312360000 |F21—7;1100

NN N |t | ek [ NI | ek |t [k (DN NN |t |oed [ |t [ [ 0 [ QO — [N | —

N
(4]

1003771000 Fa1—7:550




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0O920WT
o

el

16

‘ 065-0030-1048
RHEE HHEFEE W M & W LBk i E
26 1003781000 |Fa—7 ;700 1
27 1070310000 |Fa1—7 ;2250 1
28 |131232000M | FamaTS54vb;1 2
29 |131233000M |FaHaTS54vh;2 1
30 |BSPZ08020 |aAA#SWWRILE 7 M8x20 1
31 |0993870000 TS5 4
32 |1284600000 |75 1
33 (099388000M L —k 5
34 |BZ06016 RILE 8.8 M6X%X16 5
35 |NPO6 AT Fvbk M6 5
36 |ILT150 A2y 34 3.5%x152 5
37 [1007150000 | v—RHUS527 ;95 1
38 |055474000M |hU1ARILk 8.8 M8x20 2
39 |NSPO8 aIHFERTIV T vk 4 M8 2
40 |BZ06035 RILL 8.8 M6x35 1
41  |134241000M | RJLRRPMY/SCP 1
42 |WRA06 ESHHR M6 1
43 1089730000 | H o3 RARL—F 1
44 1089741000 |;h—RAF7HT2—;PT1./8 1




TCRO0920WN - TCRO920WT - TRB0920WN - TRB0920WT
BAX ., INT

|
RUEE M emES W M A T LBk fis
1 0003840000 B4%;11L—15—8PR 2
2 /0003890000 |Fa—T;11L—15 2
3 1029730000 BRA—IL;10d%X 15 2
4 0008760004 |[/\TJ;F62x85 2
5 1J30209 T—INRT1)> %7 ;30209 2
6 |J30206 T—/\RF71) 430206 2
7 0008770000 v —JLTJwP ;45X 85 2

9 |000712000M | F¥vyXJLFvb;M24x%x1.5

10 |PC040032 JJE>;4%x32 2
11 |000415000M |/\NTFvv S 2
12 /0008780000 |7RJLE;M18x1.5x49 12
13 /0008840000 |Rs—I)LFvb;M18%x1.5 12

ASY 0008620000 |21 V(92)11L—15-8PR i :
® 1.2, 34831 &




TCR0O920WN - TCR0920WT - TRB0920WN - TRB0O920WT
BAN, INT

Q/‘

16

w);

1
14
o o
0 o

<‘

s

065-0030-1049
REEE HmES B M # W B i =i

1 |0440584013 INT ’ 1
2 |J6205LLU 7124 ,6205LLU 2
3 |000525000M  |[Fu T 1
4 |000535000M |HS5— 1
5 1066580100M |Jwi+4:10 ‘ 1
6 |BX10020 ARILE 10. 9 M10%x20 1
7 |TB10 INYEHHR M10(VRN) 1
8 1043827300M |FuS 1
9 |BSZ08016 aAFRILE 7 M8x%x16 3
10 |WS08 STyl v ;M8 3
11 |DHCO052 CHARATITF 52 1
12 /0005060000 |[2A4+;:11%x4. 00—5—4PR 1
13 10005070000 Fa1—7:11%x4. 00—5 1
14 |043688200C |7"1—JL ;3. OOSP x5DT 1
15 |043689300C  |sRA—JL(/\JLT{F) ;3. OOSP x5DT 1
16 |BA08016 RILk;M8% 16 3
17 |NAO8 Fvb M8 3
18 |WS08 ATV Iyw M8 3
19 |00505 A% (73)11x4. 00—5—4PR (®9.10,11,12,13,14,15,16,17,18




TCR0920WN - TCRO920WT - TRB0920WN - TRB0920WT

<9

RHEE| B &EE B & A W LEE i =
1 |0008590000 |GHAR—LTL—k 1
2 |0792650000 |R— ;A TFTA4H—~& 1
3 1003541000  |SRJL; hA TR 1
4 1318520000 |SANJL;THAUL 1
5 11318530000 |SANJL;THAUR 1
6 1318540000 |ZAJL;THALS 1
7 11339790000 |STARY—45/R)JL:63 2
8 0818811000 |BEY~N—%.C 1
9 11318550000 |FN)L;0920W 2
10 11319251000 SN FaotA 1
11 1327920000 |SANJL;AFaRyI R 1
12 1319270000 |SANJL;F472 1
13 [1064790000 | SANIL; 42965 1
14 11064890000 |\SRJL;EEE75 1
15 1065190000 |SNJL;ZE4£105 1
16 1064850000 |SRJL;ZEET71 2
17 1061710000 |SXJL; 5425 8 3
18 (1061701000 |SRJL;EE 7 1
19 1064190000 |SA~JL; %438 1
20 |0008610000 |UH%A R—LTL—Fk 1
21 11339080000 |START—I3S/N)L;40(C vRILYF) 1
22 (1065840000 |ZANJL;4 429170 1




TCR0920WN - TCR0920WT - TRB0O920WN - TRBO920WT

FA47

13532
085-0030-1057

RHEBE| &M EF M @ A W EE s
1 |130665000M |S¥k;1 1
2 [130666000M |y Tk;2 1
3 |000738000M |\ FEL ;6 3
4 [130667000M |L/\—CP 1
5 |PS060032 ATV TEY 6x32 1
6 000453000M |TILERE> ;9 1
7 11337850006 |+ 7:L 7




TCR0920WN - TCRO920WT - TRB0O920WN - TRBO920WT
cKOAINAT AT

065-0030-1050
RHEE| BB mEE B & & W =R i =z
1 11311960004 |/INAT 425 TL—LCP 1
2 |BSZ08020 JHSRILE 7 M8 %20 4
3 INSPO8 IHRAT) 579k 4 M8 6
4 |044097200M |Tvi¥:8 4
5 ]079497100M |4 27FL—bhCP 2
6 |BSZ08020 aHFARILE 7 M8X%20 4
7  |INNFO08 2500 /AVvk M8 2
8  |BH08016 FyvIB 10.9 M8x16 2
9 |NSPO08 AHZRTI G vk 4 M8 2
10 (1020460000  |F+17 2
11 |BSPZ08020 OHFSWYFHFRILE 7 M8x% 20 2
12 |WRAO08 ESHHR M8 2
13 |TPA03006 FRAYELRD A3 X6 2
14 1105788000M (kA HAKR 2
15 070398000M |RTYL5:A 2
16 |BZ06035 RILL 8.8 M6x%35 2
17 |NNFO06 2500 (0a0 vk M6 2
18  |WRAO06 ESHYHR M6 4
19 | PS060020 AT TEY 6%20 2
20 1304820004 |\RTJAINAL2T 42 CP 1
21 |BSPZ08020 |aA4#SWYFRILE 7 M8x20 4
22 |044097200M |Jwiv:8 5
23 |131153000M | 7> IL 1
24 |BSPZ08020 |aA4#SWYHxRILL 7 M8x20 3
25 |044097200M |7l ¥ ;8 3




TCR0920WN - TCR0920WT - TRB0920WN - TRB0O920WT

DAL TAT

RHEE HmBES M m A W B fig =
26 (1312030004 |H—JJLCP 1
27 (1311490002 | vk 1
28 |PS040025 AT G 4%x25 1
29 |0774093000 |Twia 2
30 1311500000 |4 AR —IL 2
31 [131152000M |7>% JLCP 2
32 |BZ06016 RILL 8.8 M6x16 4
33 |WRAO06 ESHHR M6 4
34 |WSO06 NRHHR 2379 M6 4
35 |134367200M kA2 HAKCP , 2
36 |BSZ08020 JASRILE 7 M8X%X20 4
37 |044097200M |l :8 4
38 |NSPO08 AHRRATYT 9k 4 M8 4
39 |131894000M |<—#ACP ® 421+ 1
40 |BSPZ08016 |aA4SWYFHILL 7 M8x16 2
41 |044097200M vl ¥:8 2
42 0888971000 |FaHaAR—RCP;150 1
43 |EWK864106 SFYX¥T M6 1
44 |EWK864206 LFY¥XT M6 1
45 |ONBS6 G1)—R=vy7IJL B M6 1
46 1302860002 | .8T 1
47 |J6203LLU R—ILRF7Y4 6203LLU 2
48 |DHC040 CHARAT 774 40 1
49 |DCO17 CHARAT 49 17 1
50 (1019510000 |rJ7A>T—1) 1




_

TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

ROAINAT A

REEE BHmE S B & & W =k i =
51 |TRK08020 BrARY 10. 997K M8x 20 1
52 |NSz08 JHR vk 8 221 M8 1
53 |1302870004 | X7A%4wkCP:L 1
54 |J6203LLU R—ILRFYL4 6203LLU 2
55 |DHC040 CHALAT 74+ 40 1
56 |131154000M |HS5—;17.5%6 1
57 1302900004 |¥.64T 1
58 |KFD05050100 AN F%— YaHhkES 5x5%10 1
59 |094946000M |TJwi;17.5%x2.3 1
60 |DCO17 CHANAT O 17 1
61 |090360100M | .,.;18.5x%0. 1 -
62 (1303440004 |44 CP 1
63 |BSPZ08020 |aAi#SWWHARILE 7 M8Xx20 4
64 |044097200M vl w8 4
65 1341740004 | vk 1
66 |J6203LLU R—ILRFY4 6203LLU 2
67 |DHC040 CHARAT 74 40 1
68 |DCO17 CHRNATD ©4 17 1
69 8014800000 |HAFA—SFz—>;40%X62L 1
70 1312373004 | FJALTL—LCP:L 1
71 1312422004 |FJA2TL—LCP;R 1
72 |BSPZ08020 |aA4ASWYHRILE 7 M8x20 4
73 |130340000M |A—SCP;4K™Y 1
74 BSPZ08016 |aAHASWYFHRIILE 7 M8%x 16 1
75 |044097200M Twi ;8 1
76 |JPFL203G INMTZ2Y bY PFL203 4
77 |JCS203LLU | A=vykaAHARFTYLS CS203LLU 2
78 |BZ06016 ALk 8.8 M6X16 4
79 |NP06 ATV vk M6 4
80 |1308430004 |7—LCP:L 1
81 1308440004 |7—LCP;R 1
82 |130347000M |A—5 2
83 |J6203LLU R—ILARFY4 6203LLU 4
84  |DHC040 CHARAT 74 40 2

85 |DCO17 CHERAT U5 17 2
86 'WRA12 ESHYHR M12 2
87 0577421000 | L -
88 NNF12 IS FA(AVFYE M12 2
89 082675000M |RTYLYHRATEY 3
90 |079495000M |TriavIL—b 2
91 |013290101M  |USvyFRRTYLY 4
92 |NNF06 2500 00 Fyk M6 4
93 1066672500M |HAK 6
94 |DC020 CHANAT ©4 20 6
95 {0858040000 |4 0.27x%x14x25 -
96 |801542000M |HAKCP 2
97 NP06 ATY T Fvb M6 ‘ 4
98 |BSPZ08025 |aA4#SWYXARILE 7 M8x25 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

cOA— 05

[ 13657 ]

065-0030-1051

REBEE| AR ES B3 M A LB {i& =z
1 |135290000M |73 RXT—CP 1
2 1131346000M T 33> TL—F 2
3 1024097000M |29/ % H 1
4 |WRAO6 ESYHR M6 1
5 |NNF06 IS0 /40 vk M6 1
6 |BSZ08016 JHFARILE 7 M8%x 16 2
7  |NSP08 aHRRTI T Fvk 4 M8 2
8 |131266000M |FIAHr—2 2 HN— 3
9 (0006900000 |=F1):M8X 14 3
10 (1312790004 |[H4AKJL—kCP 1
11 |[BSPZ08016  [aAhHA#SWYXHKRI/ILE 7 M8x 16 4
12 |WRAO08 ESYH® M8 4
13 [1312780003 |//3—CP 1
14 |BSPZ08016 [AAH4ASWYXHKILE 7 M8x16 5
15 |BSZ08016 JHFHRIE 7 M8% 16 2
16 |WRAO08 ESHHR M8 7
17 |NSP08 aHBRTY Ty 4 M8 2
18 1319420000 |SAJL;kTALY 1
19 |079496100M | HAFO—JLCP 2
20 |BSZ08040 IHGRILE 7 M8x40 1
21 |WRAO8 ESHHR M8 4
22 |WSAO08 NFHFHR 337 M8 1
23 |NSZ08 aH%Fvk 8 22 M8 1
24 1318860000 |JLTL—h 1




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

EOADINAU T4 T IR

TA

13527-2
065-0030-1052

KH=—91{)

RHEES HM&:BEE B & & W B {i§ =
1 |1312460002 |v 7Tk 1
2 |BZ06035 RILE 8.8 M6 X35 1
3 |NNF06 250040 vk M6 1
4 |JPFL205G NA7752Y EY PFL205 2
5 |JCS205LLU | 2=whrIIARTI4 CS205LLU 1
6 |BSZ08020 JAZRILE 7 M8 %20 2
7  INSPO8 aAHRRTIVTFyk 4 M8 2
8 1135101000M |—1;A—110 1
9 |JHF2016 T4 vF HF2016 1
10  |KBB-2020A |\ h—RUKRSARFYLY A20x23x20 1
11 |082669000M | A5 — ;URZTEY 1
12 |DCO020 CHERAT U4 20 1
13 |0873081000 2 ./\;20.5x0. 27 -
14 |ONA6 HF)—R=vFIL A M6 1
15 |131247000M |72 3> F7—LCP 1
16 1000034100M |$#kiR&ELT a2 T—1) 1
17 |DCO12 CHERAT U5 12 1
18 |[KBB-2010A |A—HRUKRSAARF4 A202x3%x10 2
19 |ONA6 HJ)—R=wFIL A M6 1
20 |VLAO042 VAJL LA—42 FLoy 1
21 |130926000M  |RJLERFy/iCP 1
22 1114650000 |BEFE—4 1
23 |CP05016 +FARIARY M5X16 3
24 |WS05 NRHYAR 207 M5 3
25 |131080000M |E—H~R—X 1




TCR0920WN - TCR0920WT - TRB0920WN - TRBO920WT
KIADINALT AT DR

065-0030-1052
RHEE MBEREFS B & & W L=k i
26 |055474000M | AHURRILE 8.8 M8 X 20 2
27 |044097200M |l :8 2
28 |NSPO8 AHZRATY Ty 4 M8 2
29 |BSZ08030 A4 7 M8X 30 1
30 |NSZ08 aHE vk 8 221 M8 2
31 |132670000M |RTY4 H23x11x95 1
32 |DE006 EAAZLAT 6 1
33 1135099000M | R)LRRkw/ICP 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0O920WT

AL —/N
065-0030-1053
REEE HaTES B m & =k 1 %
1 [1314470004 |RHL—/8R—ZXCP 1
2 1019641000 |R&ZL—/N 1
3 1019651004  [HAFTL—Fk 1
4 |BZ06045 ALk 8.8 M6x%x45 5
5 |NNFO06 250400 vk M6 5
6 049845000M |R—XCP;L 1
7 |049846000M |R—XCP:R 1
8 |WRA16 ESHYHER M16 2
9  |PS040025 ATYUHEY 4%x25 2
10 |BSZ10030 Jh%RILE 7 M10%x30 4
11 |WSA10 NRHPHAR 339 M10 4
12 |044098500M |Jwi¥:10 4
13 |089217000M | Ry 4L 1
14 |089218000M |RXT1) 4 :R 1
15 |WRAO06 ESHYHR M6 4




TCR0920WN 'TCR0920WTV - TRB0O920WN - TRB0920WT
2IRINLT AT

EEIT—U8

RUEE BARES B @ A W L=k &
1 1309150004 vk IL—LCP 1
2 |BSZ08020 aAHERILE 7 M8%X20 4
3 INSPO08 AHFRTY G vk 4 M8 4
4 |044097200M |Twi¥:8 4
5 1307143004 |ILA—SCP 1
6 |J6010LLU R—ILAFY 4 6010LLU 2
7 |DHCO080 CHARAT 75 80 2
8 1130916100M O—3 1
9  |J6301LLU RFY24 6301LLU 2
10 |DHCO037 CHARAT 7) 37 2
11 11309170002 | +vJhk 1
12 |043065101M | 7T—ILY —hhHS5— 2
13 |WRA12 ESYHR M12 2
14 |PC032016 JJEY 3.2%x16 2
15 |134529000M |7—LCP;L 1
16 |061847000M |JTwiv17%x1.6 2
17 |DCO16 CHAMAT 4 16 2
18 |112083100M |RTYL4 ;A4. 0x18%x85 2
19 1303490004 |7/ \— 1
20 |075290100M |7 ¥:10 4
21 |WSA10 NE2HFHR 339 M10 4
22 |BSZ10030 aHARILE 7 M10X30 4
23 |NSZ10 ah4Fvk 8 231 M10 3
24 |BSZ10025 aJHBRILS 7 M10x%x25 3
25 [132655000M [/\HTLH 2 | @26t




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

RYNINLTA4Y

RUEE MM ES B @m A W B fi& xE
26 0934880000 |Jwia:16x%x25 2
27 |ONB6 J)—ZR=vFIJIL B M6 2
28 |055474000M |\ AURKRIJLE 8.8 M8x20 4
29 |NSP08 AHRRATY G vk 4 M8 4
30 |079160000M |/RX 2
31 0883040000 |2/\;16.5%x22%1.0 -
32 1309270004 | ;A IF7—LCP 1
33 |130348100M |F4 2 1
34 [130918000M | FA27TL—k 1
35 | BJ08030 H5%vvTIB 10. 9 M8x% 30 11
36 |WSA08 NFYHR 3377 M8 11
37 |NSZz08 JhR vk 8 221 M8 11
38 122643000M |7—L 3
39 130958000M |7—Ls 3
40 130919000M | vk 1
41 [130929000M | Tk 1
42 061847000M |Twi v 18
43  |PC040025 JUYEY 4x25 18
44 |122645000M |(RTYL4:H2. 9x20%x95. 5 4
45 °134937000M |7—L.CP 1
46 |PS060032W | RTJYLSEL ATNAT7 6x32 1
47 |PS035032W | RTJYUTEL AT)A3. 5x32 1
48 |0006810000 |=%1):14 1
49 130912000M |AYKCP 1
50 |PC040025 DY 4%x25 1
51 |061847000M |Jwi ¥ 1
52 |079422000M | JA—HIF;10%40 1
53 |079423000M  [EX;10%x 40 1
54 |NSZ10 OH%F vyt 8 231 M10 1
55 {135590000M |YJtzykL/S—CP 1
56 1349400000 |RTY4 1
57 |134941000M  |SvF 1
58 |ONB6 Sy—R=v7IJL B M6 1
59  |PC040025 JUEY 4x25 1
60 |122668000M (/N4 1
61 |122685000M | RAbkw/N 1
62 |BSZ08020 JIAERILE 7 M8X%20 2
63 |RBT08025 AR42B 10. 9 M8x25 1
64 |NSPO8 JHERTY T 9 4 M8 3
65 |BSZ08030 JH&AARILE 7 M8x%30 1
66 |NSZ08 aHEFyk 8 242 M8 1
67 |1226711004 | % JRCP 1
68 |J6904LLU R—ILRF7Y2S 6904LLU 1
69 |DC020 CHARAT T4 20 1
70 |HF2520 DU IA95vF HF2520 2
71 [J6905LLU R—ILRFY4 6905LLU 1
72 |DC025 CHARATD U4 25 1
73 [134523100M  |9529F—LCP 1
74 |J6805LLU R—ILARF7YY 6805LLU 2
75 |134619000M |TJwi¥; 25 .5x1.0 1




TCRO0920WN - TCRO920WT - TRBO920WN - TRBO920WT

ZIRINATAT

KHT—IH
~
iy o
70737???& <€( 94
75
“
KEN— eof@ 1B
62 685 |
REEE HamEF B & A Bk s

77 |SLFR1-8S AYyrIVR LASZ AR M8R 1
78 |130923000M |AYKCP 1
79 |NSZ08 JA52 vk 8 222 M8 2
80 [000085200M | R—AE>:8%x1.6 1
81 [1309311004 | HAFFL—ICP 1
82 |BSPZ08020 aAH4ASWWHHKIJILE 7 M8X20 4
83 1297910000 |49 4 2
84 |CP06016 +FA_AaRT M16%x16 4
85 |INNF06 725040 yb M6 4
86 [130933100M  |[A—SCP;2 1
87 |WRAO8 ESHYH® M8 4
88 |134532000M |7—LCP;R 1
89 134525100M |AwKCP 2
90 |044098500M |Twi¥:10 2
91 |NNF10 250040 vk M10 2
92 |ONA6 HY—ZR=ZwFIL A M6 2
93 |PS040025 ATYUGEY 4%x25 1
94 |WRAO08 ESHHR M8 1
95 |801820000M |FL—b;dLO—5 1
96 |BJ08016 H$5%vyvyTB 10.9 M8X16 2




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

2INT—05

0650

RHEE HMAEFES M M A W &%k & z
1 /1310581004 | — 29 CP; 3wk 1
2 |055474000M |AVFRRILE 8.8 M8Xx 20 2
3 |055032000M  |AUFRARILL 8.8 M8X 15 4
4 |NSPO08 aAHRRTYT vk 4 M8 6
5 [131063300M |JL —*%F7—LCP 1
6 0007220000 |=F1:12 1
7 [131068100M |74 JL:R 1
8 131069100M |[7>4IL:L 1
9 |BSZ08016 IASRILE 7 M8X16 2
10 |BSZ08020 JARRILE 7 M8 %20 2
11 |WRAOS ESYH R M8 2
12 INSPO08 aAHERTIUG Ik 4 M8 4
13 1292520000 |(HARRTY2 4 ;20kef 2
14 |WRA10 ESHHR M10 4
15 |PC032016 JYEY 3.2x%x16 4
16 |131070100M |E—SCP;1 1
17 1297910000 |94 2
18 |CP06016 +FAarRY M6X16 4
19 |NNFO06 IS5 FA(AV Yk M6 4
20 [1310750003 |t A—Hh/N— 1
21 0333782000 |HYwS 1
22 |WRA08 ESYH*R M8 2
23 INSPO8 aAHBRTY G vk 4 M8 2
24 |067122000M |F3o/ > 2
25 |CM06012 +HS5aRY M6x12 6




TCRO0920WN - TCRO920WT - TRBO920WN - TRB0O920WT
U=

030 U

065003 L3

REEE M amES B @ & ¥ LBk i
26 |WRAO6 ESYHFR M6 6
27 |NPO6 RTY T Fvbk M6 6
28 |073438200M  |H/3— 3
29 0006900000 —X1:M8x%x 14 3
30 1349520000 |TANJL;Ryh2 1
31 1318860000 | ALTL—b 1
32 |1343580004 |~ TAk 2
33 |BSZ10070 aH4HRIE 7 M10%70 2
34 |NSz10 af#R2Fvyk 8 22 M10 2
35 |WSA10 NAFHHR 339 M10 2
36 |ONA6 J)—RX=ZvTIL A M6 2
37 |1349510000 NI RV 1

.___\44 J—



TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

SV vl

065-0030-1056

RHEE B REBES B} @& A W L i =
1 |130925000M |7 33> L/\—CP 1 | &2
2 1312140000 |{Jw,a;50%30 1
3 |BSZ08020 JASRILE 7 M8x20 1
4 |NSZ08 aK4F vk 8 222 M8 2
5 |000034100M [$kiRE T I 30T—1) 1
6 |DCO12 CHARAD 49 12 1
7 |130712000M | J—1):A—83 1
8 |PS080063 ATYLFGEY 8x63 1
9  1130926000M | RJLEXkw/iCP 1
10 |BSZ08020 JHFRILE 7 M8x%20 1
11 1044097200M v +:8 1
12 |NSP08 JFBRTY 5 vk 4 M8 1
13 [VLA040 VAL LA—40 ALY 1
14 |1114650000 |BEE—4 1
15 |CP05016 +FARIARY M5X16 3
16 |WS05 NFHFHR 2379 M5 3
17 |131080000M |E—H—A~_—X 1
18 |055474000M - | hUF#ARIE 8.8 M8x20 2
19 1044097200M |Jwi¥:8 2
20 |NSPO8 JABRTYTFvk 4 M8 2
21 [132670000M |RTJ2 S H2.3%x11%x95 1
22 |DE006 EHRNAT 6 1
23 |ONB6 F)—X=vyFI)L B M6 1




FH O®| S —040528 F
7 0668555
TREXF 0668555
JBIJIIE P 070-8004
BEEEMR 0984100
Ik E ¥ 0802462
REEEHRT  086-1152
TEEEER 0250312
BERESEHT 0200173
hEEER 9850845
INE PR 3230158
BHEEFEPT 4800102
B IWE R 7000973
HEARE 2P 8620939
I E K 8850004

THEM EE®MLOG6 1 &FM2
TELO123-26-1123
FAX0123-26-2412

TmM LE®MLI O 6 1 &M 2
TELO123-22-5131
FAX0123-26-2035

BN 45%£9 THIESSF
TELO166-61-6131
FAXO166-62-8985
REBEZENFEIONY1191 &l
TELO162-82-1932
FAXO162-82-1696

WA 2259461 T H1 2 %M
TELO155-37-3080
FAXO155-37-5187
BEBFRENGEIT 2 THLG6 &2
TELO1537-2-2624
FAX01537-3-2540
aFRAET AR =EI333 -1
TELO198-26-574 1
FAX0198-26-5746

FRE FEHEFMERFRERS52 -3
TELO19-694-1661
FAX019-694-1662
BBRZEHMWIA2 TH4H®275
TELO22-367-4573
FAX022-367-48486

i R Bl R 2512 -1
TELO285-49-1500
FAX0285-49-1560

BRI PSRRI R FE TR BH191
TELO587-93-6888
FAX0587-93-5416

P LR ML R 704 —-103
TELO86-243-1147
FAX086-243-1269
RARBRANEHEMLITH2ELS

TELOS6-381-7222
FAX096-384-3525

HEHBEHEBETHILET 3537 -1
TELO986-38-1045
FAX0986-38-4644

>

M. 16. 05. 5 S (®





